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1. In the figure, two isotropic point sources S1 and S2 emit identical light waves in phase at
wavelength A. The sources lie at separation d on an x-axis, and a light detector is moved
in a circle of large radius around the midpoint between them. It detects 30 points of

zero intensity, including two on the x axis, one on the left and the other %the right of
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the sources. What is the value of d/A? A ’P
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2. The light waves represented by the three rays shown in the diagram all have the same
frequency. 4.7 wavelengths fit into layer 1, 3.2 wavelengths fit into layer 2, and 5.3
wavelengths fit into layer 3. Rank the layers according to the speeds of the waves, least
to greatest.
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